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Mathematics - 5th Grade - Week 7 - Weekly Assessment
Group (1

. Ola sells boxes of figs, each containing 5 fruits. She also sells bags of

pomegranates, each containing 3 fruits. If she sold the same number of both
types of fruit, what is the smallest total number of fruits she sold of both
together?

. Find the product using the area model: 34 X 26.

3. Find the product using the distributive property: 34 x 21.

. Malak made 32 pieces of cake and 24 pieces of baklava. She wants to divide the
sweets into plates so that each person gets the same number. How many plates
will she need?

. Maram is planting a garden and wants to find the area of the garden to
determine how much soil she will need. The garden is 46 meters long and 24
meters wide.

Find the area of the garden using your preferred strategy.
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Group (2

. Ola sells boxes of figs, each containing 6 fruits. She also sells bags of
pomegranates, each containing 4 fruits. If she sold the same number of both
types of fruit, what is the smallest total number of fruits she sold of both
together?

. Find the product using the area model: 18 X 53.

3. Using the distributive property, find the product: 16 x 17.

. Malak made 30 pieces of cake and 48 pieces of baklava. She wants to divide the
sweets into plates so that each person gets the same number. How many plates
will she need?

. Ali drives his car 60 kilometers each day. How many kilometers will he drive in

187 days?
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Group(3)

. Ola sells boxes of figs, each containing 9 fruits. She also sells bags of
pomegranates, each containing 7 fruits. If she sold the same number of both
types of fruit, what is the smallest total number of fruits she sold of both
together?

. Find the product using the area model: 57 X 12.

3. Using the distributive property, find the product: 83 x 19.

. Malak made 30 pieces of cake and 15 pieces of baklava. She wants to divide the
sweets into plates so that each person gets the same number. How many plates
will she need?

. A tourist bus has 65 seats. How many passengers can be transported by 15

buses of the same type (assuming all seats are occupied)?






